LFNRTYNR—IVER

L

’

(EEK) l
| 3/ TLAT—5 A TR—T—2 A Ik

QA
[/
i

]
[

2F/TLAY7—T A N¥RZ—Tv—1 A

18/ FLA—4 A RR—Tv—0 A f
[SEENS] 2 v
Nt e SRR
 [EEhRFRE) = =
FEH---EH(4 BA~11 8)16:15~18:40
ZH(12 H~3 A) 16:15~18:10
R FRIEEE 55N 3
- [FEEIH]
N = I = N N = N = e = [ P =15V

| GEENEAY) KANSLY
| ZFNRIYNR—IVE —ES R BRI BABTAE |
ADETHEROTVET IBRESVERBREOTLAY |
 —ORNSEEROT, CNETARTIMI-LELT
WA ERMOHTUVWRR—YICH L THI=L &V D
| ABEEBEAIETT !

|

] lEsE 3
IL 1

N A S b R R L R Y T I AL A g T LY g e g
il T TR S b RE P :’1\3.’\3. 7,0 B3 e s 50 O e M .




